0017 /00€/00c eSSl -




T5a 200

#8190 h7
160
#8100 h7

_ %70 _,
.

RGN

= l_c? |
ASiSPES o

| | w
61.5__63.5 236.5+ 60

375* 389 ~130

®EO®

135

5

]
59

130

40_|
66

120
60
12i
%*50
—~

> —>

100%0.1 10020.1
. 87.5 87.5

—

D (1) Rotating

(2) 4xM8x 14 on @130
Positioning of an indexing station

(3 Possible pinning on @170 max. depth 18
Undertaken by customer

(@) Fix

(5) 4x M6 x 12 on @48
Fix

100+£0.1

100+£0.1

I ® 4xM10x25
7 D R Same position on faces C-D-E-F

T 4x 01
Faces A and B

|
I
o
|
|
|
i
p123*

*
© (8 Reducer with torque limiter

(9) Control cam and sensor

40 Brake-motor
41 Space for disassembly

42 Detailed upper part

$26 * Dimensions depending on fitted motorisation.

WWW.Sopap.com




TSa 200

#250 h7

@

#215 h8
®

#125 h7
-
_#90 h8 @

o

=

|

N

191
170
69*

246

150
75
-
462.5] 6

152

72.5% | T77* 314% 90
488*

. 135£0.1 135£0.1 . (1) Rotating
122.5 122.5

4 xM10x 18 on @170
Positioning of an indexing station

—
o

©

|
o
©

Possible pinning on @170 max. depth 18
Undertaken by customer

13540.1
122.5
~

Fix

@ ®

4 x M8 x 14 on @70

Space for disassembly

39 \ Fix
FIRY .
I T == ® 4xM10x25
e Same position on faces C-D-E-F
) T O
; ”L_EL[ ‘ @ 4x 011
{Rﬂ o8 B i Faces A and B
o s | (8) Reducer with torque limiter
® S |
% (9 Control cam and sensor
~250* )
@ A0 Brake-motor
@
@
2

Detailed upper part

* Dimensions depending on fitted motorisation.




180

TS5z 2000

8290 h7

250

#8150 h7
8110

|

s N B
. | RBA
¥ ) h _L it
‘ =
alfs ®
T (@)
[(e}

79%

r
|
i
75
|15
HT
|
! I
|
+
|
|
|
08*

105 \ 130%

555%* ~160

92* | 100%* 340%*
532*
160+0.1 160+0.1
142.5 142.5

160=0.1

160=0.1

—

(1) Rotating

(2) 4 x M10 x 18 on @200
Positioning of an indexing station

(3) Possible pinning on @200 max. depth 18
Undertaken by customer

@) Fix

(5) 4 x M8 x 14 on @80
Fix

® 4xM12x30
Same position on faces C-D-E-F

T 4x013
Faces A and B

@ Reducer with torque limiter
(9 Control cam and sensor

40 Brake-motor

—

@ Space for disassembly

42 Detailed upper part

* Dimensions depending on fitted motorisation.




Sz 200/300/400

Technical Characteristics

TS

200

300

400

Repeatability

+ 0,01 mm
on Rs = 52,5 mm

+= 0,01 mm
on Rs =75 mm

+ 0,01 mm
on Rs =100 mm

Indexing accuracy

+ 0,02 mm
on Rs = 52,5 mm

+= 0,02 mm
on Rs =75 mm

+= 0,02 mm
on Rs =100 mm

Maxi allowable axial load ABA 7500 N 10 000 N 15000 N
Maxi allowable tilting torque KMA 250 Nm 300 Nm 1 000 Nm
Maxi allowable radial load RBA 2500 N 3500 N 5000 N
Weight with motorisation ~ 25 kg ~ 50 kg ~ 80 kg

3 years warranty on standard products.

WWW.SOopap.com




France

SOPAP SAS

Z.A.M Chalons Nord
1 Rue des Vignettes
F-51520 La Veuve

Téléphone: +33 (0) 3 26 69 21 21
Télécopie: +33 (0) 3 26 69 21 31
E.mail: info.fr@sopap.com

Deutschland Siid

SOPAP GmbH
Mitteléschstrasse 21
D-88213 Ravensburg

Telefon: +49 (0) 751 9507
Telefax: +49 (0) 751 92583
E.mail: info-sued.de@sopap.com

Deutschland Mitte

Konstruktionsbtro Becker
Hch. Von Brentanoweg 2
D-64683 Einhausen

Telefon: +49 (0) 6251 856601
Telefax: +49 (0) 6251 987701
E.mail: info-mitte.de@sopap.com

Espana

SOPAP Automatizacion S.L.
¢/Las Cruces n°6 — Bajo C
E-28230 Las Rozas

Madrid

Teléfono: +34 91 636 01 39
Teléfax:  +34 91 636 02 64
E.mail: info.es@sopap.com

USA

SOPAP LLC

560-A Brookshire Road
29651Greer

South Carolina

Telephone: +1 864 801 1450
Fax: +1 864 801 1460
E.mail: info-sc.usa@sopap.com

Benelux

ADR

Solvayweg 18

6049 CP Herten-Roermond
Nederland

Telefoon: +31 475 337379
Fax: +31 475 337444
E.mail: info.nl@sopap.com

USA

Rudy V. Colombi
2696 Red Fox Trail
48098 Troy
Michigan

Telephone: +1 248 840 2377
Fax: +1 248 540 7535
E.mail: info-mi.usa@sopap.com

Brasil

Triaxis

Rua Bulgaria, 215
Vila Santa Luzia

09871-100 Sao Bernardo do Campo

Telefone: +55 11 4361 4977
Fax: +55 11 4361 9004
E.mail: info.br@sopap.com

Canada

DOLYX trading inc.
171 Nicholson Crt.
L7N 3N5 Burlington
Ontario

Telephone: +1 905 631 6615
Fax: +1 905 631 6244
E.mail: info-on.ca@sopap.com

1099010234/04-GB



